[image: image1.png]Show whether each of the following statements is true or false.

Ataxpayer needs to keep the documentation relating to his business for the tax year 2011/12 until
31 January 2018.

True.

False

The maximum penaltyfor e failure to keep adequate records is £2,000.

True.

False
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Task 1.1
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Task 1.2

[image: image2.png]Show whether each of the following statements is true or false.

If an AAT member suspects a client of money laundering, they should report this to the money laundering authorities.

Ifa clientis takenil,

‘atax pracitioner can discuss the client's afairs with the next of in, even ifthere is not a
letter of authorisation from the client.





Task 1.3
[image: image3.png]Tick the box which correctly completes each of the following sentences.
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Task 1.4

[image: image4.png]Answer the following questions by selecting the correct answers from the drop down lists.

Whatis Mohan's gross salary for the 201112 tax year? B~ |
Whatis Mohan's taxable bonus for the 201112 tax year? = [frs

Whatis Mohan's taxable commission for the 201112 taxyear? £ [830 %]




Task 1.5

[image: image5.png]Answer the following questions by inputting the correct answers (in whole figures) in the boxes provided.

Whatis the cost of the car which will be used in Jan's benefitin kind computation?

£ [38000

Whatis the percentage charge for Jan's car, based upon CO2 emissions, to be used in the benefitin kind
computation?

N 3

The percentage used when calculating the assessable fuel benefitwill be: 23 | %

The total assessable benefitn kind for the use of the car and the fuel benefitwill be: £ [16472

Whatis the maximum percentage applied in the benefitin kind computation for company cars?

35 |%

If Jan's car was diesel powered rather than petrol powered, what would be the percentage charge usedin
the assessable beneftin kind computation?

;2 |%





Task 1.6
[image: image6.png](a) Tick all of the criteria which must apply for a car to be treated as a pool car.

Itis available to, and actually used by, more than
==

R

Itis normally kept at the employee’s home.

Private usage is never allowed.

Any private usage is incidental o business use.

Any private usage is ignored.





Task 1.6 (continued)

[image: image7.png](b) Complete the following sentences, using whole numbers only.

Aloan of £10,000 is given to an employee on 1 May 2010. On 1 October 2011, the employee repays £6,000.

‘The employee pays 1.5% interest on this loan. The assessable beneftin kind in 2011/121s: £ [175

An employee has a salary of £28,500. He was given the use of a house in December 2010, that cost the employer
£198,000. The annual value of the house is £5,700. The house contained fumiture that cost the employer £3,000.

‘The employer also paidfor all ancillary services, which cost £3,200 for 2011112,

(c) Using this information, complete the following sentences, using whole numbers only.
Ifyour answer is zero, enter 0.

‘The assessable benefitin kind for the use of the house for 2011/121s: £ [10620

‘The assessable benefitin kind for the use of the furniture and the ancillary senvices for 2011121s: £ [3800

Ifthe house was treated as job-related accommadation, the assessable benefitin kind would be: £ [2850

Ifthe employee paid £100 per month towards the use of the house and £125 per month towards the cost of
the furniture and ancilliary services, this would reduce the assessable benefitin kind by: £ [2700 peryear.





Task 1.7
[image: image8.png]Tick each of the following to show whether or not they are an assessable benefitin kind.
Assume that the employee is eaming over £8,500 per annum.

Assessableasa  Notassessable as a

= e
Employer paying £50 per week in childcare vouchers to an

=
A —

Provision of a mobile phone to a director's wife, who does not
work for the employer.

Funding of a work-related degree programme, costing
£12,000 per year





Task 1.8
[image: image9.png]Select the correct option in response to each of the following statements.

James, a higher rate taxpayer, has decided to make a £100 paymentto a charity using his employer's

Payroll Giving Scheme. The effect ofthis is:

James will save tax atthe higher rate of tax.

James will save tax atthe basic rate of tax.

James will pay the same amount oftaxthat he would have paid
had he not made the paymentto chariy.

The charity will be able to reclaim 409% tax on the £100.

During 2011112 Jayesh incurred travel expenses of £80 and paid:
Neither of the expenses were reimbursed by his employer, and the travel expenses were incurred when
he was required to work at a difierent building site. The effect of this is:

Neitheris allowable as a taxable deduction from his salary.

£200 for essential safety equipment

Only the travel expenses are allowsble as a taxable deduction
from his salary.

Only the safety equipment s allowsble as a taxable deduction
from his salary.

Both are allowable as a taxable deduction from his salary.





Task 1.8 (continued)
[image: image10.png]During 2011/12, Martin used his own car for business travel. He completed 12,500 business miles and
his employer reimbursed him at a rate of 39 pence per mile. The efect of this i

He will have a taxable amount of £250.

He will have 3 taxable amount of £750.

He will claim an allowable expense of £250.

He will claim an allowable expense of £750.

During 2011/12, Chi paid 3% into an occupational pension scheme and her employer also paid 5% into
the occupational pension scheme. For 2011112, her salary was £24,000. The impact ofthis is:

Her taxable salary will be reduced by £1,200.

Her taxable salary will be reduced by £720.

Her basic rate band will be extended by £1,200.

Her basic rate band will be extended by £720.





Task 1.9
[image: image11.png]Ted received £3,000 gross from his building society in interest for 2011/12.

Calculate the income tax payable on this interest for 2011112, assuming that Ted’s
employment income, net of personal allowances, is as shown.

Employment income net of Tax payable on
personal allowanc interest

£

Nil (assume all his personal

allowance has been used) 44
1,500 494
10,000 600

35,000 1200





Task 1.10
[image: image12.png]Daniel received gross dividends from James Ltd.

the

Calculate the amount Daniel received and the tax amount of the dividends and input the answers
boxes provided.





Task 1.11
[image: image13.png](a) Answer the following question by inputting the correct answer (in whole pounds) in the box provided.

Whatis the maximum amount an individual can investin a cash ISA for the tax year 20111122

e [520

(b) Identify whether the following statement s true or false by selecting the correct option.

Educational grants are taxable on the recipient ifthey are over £5,000.

Fase Bl





Task 1.12
(a)
£

Property income
25,000
Personal allowance:

(9,940 – ([25,000 – 24,000] / 2 
  9,440

15,560
Tax payable:

15,560 x 20%
3,112

(b)
£

Property income
35,000
Personal allowance
7,475

27,525
Tax payable:

27,525 x 20%
5,505
Task 1.13

Late return
Firstly, the return should have been filed by 31 January 2012. Margaret will have received a £100 penalty immediately simply due to the fact that the return is late. As the return is also more than three months late, HMRC may charge a penalty of £10 per day, to a maximum of £900.

Also, as the return is more than six months late, she may incur a penalty which is the higher of £300 and 5% of the tax liability. As 5% of her liability would be £40 (£800 x 5%), then the £300 is the likely penalty.

Late payment
The £800 should have been paid by 31 January 2012. As this payment is over six month late, she would incur a penalty of 10% of the unpaid tax, which would equal £80. In addition, she would be charged interest on the unpaid tax, chargeable on a daily basis from the due date to the date of payment.
2011/12
As the payment for 2011/12 is less than £1,000, payments on account would not be required. Instead the tax for 2011/12 would be due by 31 January 2013.

Task 1.14
Box 18
29,200

Box 22
1,390

Box 23
1,200

Box 24
3,600

Box 34
910

Box 36
22,100

Box 37
6,100

Box 38
16,000

Section 2
Task 2.1
[image: image14.png]Show whether the following statement is true or false.

Property income is taxed at 40%.

True.

False





Task 2.2

[image: image15.png]‘Show Martin’s profit or loss by inputting the correct figures in the boxes alongside each income and
‘expenditure category listed below. If you feel any items are not allowable please insert a zero (in
figures) in the appropriate box.

[Property income 4500
[Property expenses:

IRedecoration of property 1600
[Extension to property 0

|counci tax 1200

[Wear and tear 330
[Frofit =] 1370





Task 2.3

[image: image16.png]Indicate whether or not each chalet would be treated as a furnished holiday letting (FHL) given the
information available, by dragging the appropriate answer for each into the answer column.

Answer

Chalet A has 160 available days, and is actually letfor 60 days. as FHL

Treated as
Chalet B has 200 available days, and s actually letfor 120 days. FHL

Chalet C has 120 available days, and is actually letfor 100 days. | as FHL

Treated as
Chalet D has 200 available days andis actually letfor 80 days. FHL





Task 2.4

[image: image17.png]Show whether the following statements are true or false.

Al privately owned cars are exempt ffom capital gains tax.

True

False

Wasting chattels are defined as assets with a usefullfe of fewer than 70 years.





Task 2.5
[image: image18.png]Calculate the taxpayer's gain on disposal. If your answer is zero, please enter ‘0"

Net disposal proceeds 72750
Cost 27810
Enhancement expenditure 6,000

Gain 38040





Task 2.6
	
	No of

Shares 
	
	£

	March 1998
	400
	
	6,000

	Bonus issue
	40
	
	

	
	440
	
	

	Rights issue
	55
	
	550

	
	495
	
	6,550

	October 2011
	300
	
	3,970

	
	195
	
	2,580

	
	
	
	

	Proceeds
	5,700
	
	

	Cost 
	3,970
	
	

	Gain
	1,730
	
	

	
	
	
	


Task 2.7

[image: image19.png]Jean bought an asset in September 2004 for £4,700. In March 2012, the asset was sold for £7,000.
Jean paid commission of 3% on this disposal.

Calculate Jean's gain on disposal, inputting whole numbers only. If your answer is zero, please enter 0.

Net disposal proceeds 6790
Cost 4700
Gain 2000

Chattel marginal reliet 1667





Task 2.8

[image: image20.png]Show whether the following statements are true or false.

Amain residence slection can be made on any house whether or not it has been lived in by the taxpayer.

True.

False

HMRC makes the election on which residence is treated as the taxpayer's main home.

True.

False

Any election made on which residence is treated as the main home must be made within two years of
the date from which the election is to be effective.

rue

False





Task 2.9

[image: image21.png](a) Show whether the following statement is true or false.

Capital gains tax loss refief will never resultin loss of the annual exemption in the tax year that the loss s
incurred. However it may resultin an unused annual exemption in future years ifthe loss is carried forward.

(b) Select the correct answer from the drop down list to complete each sentence.

Jess brought forward capital losses from tax year 2009/10 o £9,200. Jess made total capital gains of
£12,500in 2010/11 and £14,000 in 2011/12. Assume the annual exemption for both 2010111 and 201111215,
£10,600. Show how much of the loss will be relieved n each of the years.

1n 201011 Jess willrelieve

1n 2011112 Jess willrelieve

[£1.900 Rl ofherlosses broughtforward from 2009110.

[£3:200 Rl ofherlosses broughtforward from 2009110.





